Issue:
Date Issued:

Item

201
202
203
204
205
206
207
208
209
210
211
212
213
214
215

1
24/09/2008

Part No

ADT5.01
ADT5.02
ADT5.03
ADT5.04
ADT5.05
ADT5.06
ADT5.07
ADT5.08
ADT5.09
ADT5.10
ADT5.11
ADT5.12
ADT5.13
ADT5.14
ADT5.15

PARTS LIST FOR:
GEARBOX SUPPORT

MODEL: ADT5
223 231
227 229
231 / \ / 224 230
. 224 \ P 220
Al : 228 231
~a& | — 221
225 -
. 222
223
28 G 213
2
N h 211
S Q) e
208 SN )
PR REALA Sy 203
N o
204
205
201
&
208 202
Description Qty Item Part No Description Qty
Spring Pin 5 216 ADT5.16 Connecting Rod 1
Grip 1 217 ADT5.17 Tilting Saddle Ass'y 1
Nut M16 1 218 ADT5.18 Saddle Kit 1
Bearing 2 219 ADT5.19 Screw M12*35 4
Set Screw M6*10 2 220 ADT5.20 Wing Nut 2
Set Screw M8*10 1 221 ADT5.21 Hook Screw 2
Connecting Rod 1 222 ADT5.22 Bolt Chain 2
Retaining Ring 4 223 ADT5.23 Chain 2
Connecting Rod 1 224 ADT5.24 Nut M12 4
Bottom Plate Ass'y 1 225 ADT5.25 Stationary Plate 4
Retaining Ring 4 226 ADT5.26 Screw M8*35 2
Connecting Rod 1 227 ADT5.27 Nut M8 2
Nut M12 1 228 ADT5.28 Washer 12 4
Adjustable Screw 4 229 ADT5.29 Nut M10 2
Grip 4 230 ADT5.30 Washer 10 2
231 ADT5.31 Washer 8 8

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.
INFORMATION: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

nEAbEY,

o ed

WACHINERY

Sole UK Distributor
Sealey Group,
Bury St. Edmunds, Suffolk.

| 01284 757500
& 01284 703534

@b www.sealey.co.uk
Mo | sales@sealey.co.uk




